o A

8012/ED-DA/RCE-M

15

Sl. No.:

103997

gl FETeqE F AR

Seal of Superintendent of Examination Centre

3T / Roll Number

TRl g e T A A S -aiEE TR R )
To be filled in by the Candidate using Black or Blue Ballpoint Pen only.

I T FHC
{S1. No. of Answer-Sheet)

fp(wﬁé?/vg

|

1 E T D K S 1 T OPRTPPPPIPIIR

ahverom - § 0 ford e P g o v B

Declaration : I have read and understood the instructions given below.

(Signature of Invigilator) TS T GEATE £..ooovoossseseeseeseessssesssssssssssssssssssssansssssssesssssssasssss R £ ovoeoeresssssarrerees
(Signature of Candidate) (Date)
FEFTRTAT Luererrrererrerseeseseersrsassesssssssoses T 1 - H RV T S £31: ETRURRRION
{Name of Invigilator) (Name of Candidate) {Time)
gfcen if gEl A TEn—56 TE—3 TR ot/ Total Marks—200

Number of Pages in this Booklet—56

witgnfeft & forg Fdw

Time—3 Hours

%A T /No. of Questions—200

INSTRUCTIONS TO CANDIDATES

1. w-gf@mﬁa%tﬁg@quqésﬁquﬁﬁqmﬁ%:ﬁaﬁaﬁﬁ
m%ﬁlmﬁﬁwmmaﬁaﬁm%m%'ﬁa@ﬁl

2. wﬁngﬁq?ﬂawﬁ!ﬁmmm,mmmmm
[T A T HL

3. OMR - & wwe SRt R g PEwgam #t, s Sw-w
I g T TR ST

4. m@aﬁ%mgﬁmmﬁﬁsm-ﬁwiwpm
ﬁl@aﬁmﬁqg%ammaﬁzoowﬁmwvﬁil
R TR R R DA RIS e H gt g w1 G|
o "R TR-giEE I W

5. uﬁ%ﬁm%@m—g@mﬁw%ﬁﬁqmwﬁmﬂﬁ
) AR 9 TETY T HL AU OMR Fe-73 # &l foren
m@ﬁa@,mmm%mmama,mmm
A wier-wtiz W A W

6. T IW AW A F A @ A W, sy Al R T
M

7. Ta wEA-gie # 200 wEfrs s Ry T ) TEw w@ 3w
%glaimmaiﬁamw%ammmammﬁm Ya
3t w1 WR |

8. w-ﬁmwm-ﬁﬁﬁﬁswﬁmmuﬁ%m
ﬁﬁ@@:ﬁélWOMRm-ﬁmtgmmqﬁm
st

o. v Wi ¥ IO AU HH OIS F T W OMR FW-U4 ferh
2 e &) 3T B wE v e -y e s
o w1 w R

10. =@ YE-gfRw # FE e am E

qM—1 : WEF URR W

T A TH T Ho 1-50
a—2 : FFIZR R TH g de  51-80
a-—3 : H AEGEe yEEo  81-110
wE—4 ;9 T wH e 111-140
wm—5 e R wE do  141-180
W—6 : qEE IS wH Ho 181200

11, o R v & S G 3, T oHRh AT R S W ST

1. Immediately after getting the Booklet read the instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the
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PART—1 / sr—1
General Studies and General Knowledge of State /

e following were the officials of the | 1. I® 3% § g % Twfered

king in the later Vedic period : AR 3
1. Purohit 1. gfﬁ%ﬂ
2. Senani R Ccil
3. Rajjuka 3.
4. Gramni 4 9
Select the correct answer !
& W gHT :
@) 1,2 and3 (A) 1,273
2
(B) 1, 2 and 4 B 1, 2704
(©) 1, Seendig (©) 1,374
(D) 2, 3 and 4 N 2’ =
4
]

2. Which of the following pairs (British
Viceroys in India and events) is not o, frefufaa # ¥ FA-B D (wa # fafew

correctly matched? IR T THAT) gﬁﬁ%m & 27
(A) Third Burmese War—Lord (A) qﬁmatﬁ g.,-;__gﬁﬁ Fp e
. Dufferin
(B) Indian Uni ities Act (1904) Bl
ndian Universities Ac e 23
Lord Curzon (1904)—?11@
(C) Transfer of Capital from Calcutta , () . :‘1"%‘ T &
to Delhi—Lord Hardinge II TS T et
(D) INA Trial and Naval Mutiny— (D) vem fe PN gEE @ ELEEl
Lord Mountbatten frde—ite wSeaed

SPACE FOR ROUGH WORK / % FR % forq 9
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3. Read the following statements :

1. The historic Dandi March was a
signal for the Quit India
Movement.

2. Gandhiji participated in the
Second Round Table
Conference.

3. The Ghadar Party was founded
by Lala Har Dayal and Sochan
Singh Bhakna at San Francisco
in the USA.

Select the correct answer :

(A) 1, 2 and 3 are correct
(B) 1 and 2 are correct
(C) 2 and 3 are correct

(D) 1 and 3 are correct

4, The following rulers of the Kalchuri
dynasty in this State ruled from
Tumman, their early capital :

Kalingraj
Kamalraj

Ratnaraj

b

Prithviraj

Select the correct answer :
(A) 1,2 and 3

(B) 1, 3 and 4

(€ 1, 2 and 4

(D) 2, 3 and 4

3. Taefafaa %o ufew :

1. et T IEn vRa Biet TReH
% oI we gaha o)

2. TR ¥ fiedfw TieEs wieR # am

— e

3. WgH TS e % FhfaEn § W
A TRIE 3R A fig w3
TR Ut <Y T )

T I YT :

A 1,27 3T

(B) 1T 2% g

(C) 2@ 3w E

(D) 1, @W3& 2

4, 9 T i Fogk TEw & FEfatea
e 3 T g ey g @ S
fopa -

1. SRS
2. HAHS
3. &

4, YRS
'H'@Wﬁﬁﬂ:
(a) 1,291 3
(B) 1, 34dM 4
(©) 1,274
(D) 2, 34

SPACE FOR ROUGH WORK / % FH & fer¢ s
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5. Which

of the following pairs
(Maratha Subedar in this State and
the event) is not properly matched?

(A) Vithal Dinkar—Introduction of
Pargana System

5.

(B) Keshav Govind—Muria Revolt
in Bastar

(C) Bikaji Gopal—Struggle for
succession in Sarguja State

(D) Mahipat Rao—European
traveller Forrester’s visit

Read the following statements :

1. Kandel Canal Satyagraha was
an important event in this State.

2. Mahatma Gandhi launched this
Satyagraha against government
atrocities.

3. Pt. Sunderlal Sharma, Narayan
Rao Meghawale and Chhotelal
were the leaders of this
Satyagraha.

Select the correct answer !
(A) 1, 2 and 3 are correct
(B) 1 and 2 are correct
(C) 2 and 3 are correct

(D) 1 and 3 are correct

Frafifes § ¥ -0 D (W T F
HaT GARR U ST Ghfera e 77

(A) Prge fRre—or TEfd #1 TR

By Mfe—e e e

() et Hrare—eren fermed J
ITIIHR T T

(D) AR Ta—gAREA Tt wE
AT

FrafaRaa wum aiRT

1. F0E TR GEWE W T &
TG T ot

0. ffw wma 6 wrlE % s
TEreT W Y 3W AR WO
TR

3. =@ GWRE % a1 do-Yare W,
T TE R SR B |

T S AT

(A) 1,2 3T E
B) 1282

(C) 2T 3 WA T

D) 1, W 3dAE
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8012/ED-DA/RCE-M/16-A

[ P.T.O.




7.

The following schools are related to
Buddhist Sculptural Art :

1. Gandhara
2. Mathura
3. Vallabhi

4. Amravati

Select the correct answer :

(A) 1, 2 and 3

(B) 1, 2 and 4

(C) 1, 3 and 4

(D) 2, 3 and 4 ’

Which of the following pairs (literary

works of ancient India and its
author) is not correctly matched?

(A) Ratnavali—Bhasa

(B) Karpur Manjari—Raj Shekhar
(C) Panchatantra—Vishnu Sharma
(D) Geet Govind—Jaidev

Read the following statements :

1. Cultural Renaissance occurred
in India in the Nineteenth
Century.

2. A number of social reform
movements were launched.

3. Cultural Renaissance paved the
way for national consciousness.

Select the correct answer :
(A) 1, 2 and 3 are correct
(B) 1 and 2 are correct
(C) 2 and 3 are correct
(D) 1 and 3 are correct

. IwTEdt
aﬁwgﬁq:
(A) 1,299 3
B) 1, 2qa 4
(C) 1,3du 4
(D) 2, 3dUT 4

Fraferaa § ¥ B-d S (I Ra
okfRs FR w@ ok wEw) gake
€t 77

(A) A —TE

(B) T He—ISIRIER

(C) TerdA—Tfarsyy s

(D) e Mffe—s=ea

ﬁﬁ%@ﬂwqﬁq

1. 19f1 wash # wRa # wieHloe
TASIRYT 3T

2. IS GUW GUR IARICH! H GIIQ
Sl

3. WiEpw AR A TET S H
ATl werd R

T W AT

A) 1, 2T 3 TR

B) 120 T

(C) 2w 3w

D) 1, @3 TAE
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10. The following are the literary works 10. 3@ T & W< waaar 9 W

of Pt. Sundarlal Sharma, the Yo YA it f Feffea affEs

prominent freedom fighter of this —fﬁﬁﬁ%’

State : :

1. Dan Leela N ‘EFI
——2.—Praﬁa<ﬁ3h¥it_______Tm_‘ﬁm—__—__

3. Dhruva Charit 3. gaaka

4. Suraj-Geet 4. %E\Tﬂ"ﬁa

Select the correct answer :

(A) 1, 2 and 3 w3 g ;

(B) 1,2 and 4 (A) 1,270 3

(©) 1, 3 and 4 B) 1, 24da 4

(D) 2, 3 and 4 (C) 1,3qur 4
'11. Match the following (the prominent (D) 2, 34T 4

artists of this State and their fields) :

11. @—Iﬁw—llﬁgﬁmaﬁ (T *

List-1 List-II
HEATHR Jeohl :
(Artists) (Fields) gg TE T &)
a. Dular Singh 1. Pandwani -1 ge-11
Mandaraji (FETHR) (&)
b. Jhaduram 2. Bharthari a. AR fg wetsh 1. Ysam
Dewangan b. G AT 2. Wl
c. Suruj Bai Khande 3. Panthi dance c. Wa‘g@% 3. wfl 7@
d. Devdas Banjare 4. Nacha d. ¥FER SR 4. 9=
Select the correct answer : 'H%‘TW g :
A)a b ¢ d A a b ¢ d
1 3 2 1 3 4 2
(B) a b c d B) a b c d
2 4 3 1 2 4 3 1
C)a b ¢ d €C)a b c d
3 2 1 4 3 2 1 4
a b c d Ma b ¢ d
4 1 2 3 4 1 2 3

SPACE FOR ROUGH WORK / T %M & fog w7

8012/ED-DA/RCE-M/16-A 7 [ P.T.O.



12.

Which of the following pairs
(prominent folk institute of this State
and the founder) is correctly
matched?

(A) Sonha Bihan—Padmabhushan

13.

14.

(B) Nawa Anjaor-—Mahasingh
Chandrakar
(C) Naya Theatre—Padmabhushan
Late Habib Tanvir
(D) Lorik Chanda—Ramchandra
Deshmukh

The original name ‘Kond’ of the
Gond tribe of this State comes from
which of the following languages?
(A) Telugu (B) Tamil

(C) Kannada (D) Oriya

Match the following (the tribes of
this state and their folk dances) :

List-I List-II

(Tribes) (Dances)
a. Muria 1. Sarhul
b. Maria 2. Kaksar
c. Dhurwa 3. Gaur
d. Oraon 4. Parab
Select the correct answer :
(A) a b c d

1 2 3 4
B)a b c d

2 3 4 1
€ a b ¢ d

3 4 1 2
D)a b c d

4 1 2 3

Tijanbai |

12.

13.

14.

Frefafae & @ S-S (W T R
W@ T TEAT AT HEAYF) GAferd &7
(A) BT fagr—aee fieH =
(B) TN SSIR—HEIIE TR
(C) o Frer—ugHyyu T-Fefle aefR
(D) R TET—HE5 X
T TS I S e 1 OHA AW wiS
FrerferRaa # @ e o @ Fepen 37
(A) I (B) afire
(C) == (D) 3=
-1 1 PRI & gafoa L (38 T R
ST Td 3k )
-1 -1
(Frteat) (7=)
a. gian 1. mga
b. Wit 2.
c. g i 3. 7f|'{
d. F& 4, W&
e IW AT :
A a b ¢ d
1 2 3 4
B) a b c d
2 3 4 1
(C)a b c d
3 4 1 2
D)a b c d
4 1 2 3

SPACE FOR ROUGH WORK / T &1 & fog w78
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15. Which of the following pairs (tribal

artist of this State and his field) is
correctly matched?

(A) Belgur Mandavi—Terracota

16.

17.

(B) Narmada Sonsai—Bamboo Art

(C) Jaidev Baghel—Traditional
Stone Sculpture

(D) Govindram Jhara—Lost Wax
Method Art

The Indian Standard Time is ahead
of GMT by

(A) 5:30 hours
(B) 6 :30 hours
(C) 4:30 hours

(D) None of the above

Which one of the following gases is
not a greenhouse gas?

(A) Methane
(B) Ozone
(C) Neon

(D) Tropospheric nitrous oxide

Sculpture |

15. frefofes § @ -6 I (W T F

16.

ST TR T SR &) gAferd /7
(A) VR HETHH—7oT-Ffdehett

(B) el GrEE—ata ey
(C) TR TR T Rredser

(D) TideT FO—arn 9 Trftrepen

TS TEE Gng feRe me e @
fpaqan o 27

(A) 5:309a
(B) 6:30 8
(C) 4:30HA

(D) 39 ¥ & =g e

17. Trefaiad § ¥ Pa-w u whage 76 7

@A) faem
(B) =M
() Fam

(D) 2rEHRE TEgH ATRTES

SPACE FOR ROUGH WORK / T% @ % To1¢ 58
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18. Statement 1 : 18, F¥ 1:
High tide occurs when the sun & g T O9E T 9 W W B
and the moon coincides each 2 9 3= S9R A 2
other on the axis.
YA 2 :
Statement 2 : SEa e
Tides occur twice in 24 hours. 24 ) ﬁw o ! 5
(A) Both 1 and 2 are individually (A) 1% 2 B AL
true and 1 is the correct 1, 2 < W& S H
explanation of 2 (B) 1 W 2 3! FuA AR T § A
(B) Both 1 and 2 are individually 1, 2 6 ¥ =remn TE wan
zrxlll;;anaztcilo; (:: 2not the correct ) 18R % frg 2 T 2
(C) 1 is true but 2 is false (D) 1W%ﬁ$ﬁ2'€€t%
(D) 1 is false but 2 is true 19, f=fafes & @ FF-w F=Ed @ *
19. Which of the following is not the w27
tributary of river Indravati? (A) weilt
(A) Sabari (B) &t
(C) ‘Nibra (D)
(D) Nandiraj
20. Northern areas of the Deogarh Hill 20. ; TS S A 4 B
have (A) =g ek e
(A) very high rainfall (B) 3tftres aut e
(B) high rainfall (C) Hew aui arel
(C) moderate rainfall (D) T auf amen
(D) low rainfall .
21. MeEd T O TH WEWE WUTelt e
21. Godavari river system and

Mahanadi river system separate at
(A) Keshkal Valley

(B) Telin Valley

(C) Dandakaranya

(D) Abhuzmad

Bt

(A) FIEHIA TR
(B) deiq ot @
(C) TUSHRWT d
(D) SreEE |

SPACE FOR ROUGH WORK / % %M & fIg <18
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22. What is the growth rate of GDP

23.

24.

25.

of India .in the first

of 2018-19?
(A) 7-5%

quarter

— By T7%

(C) 82%
(D) 8:3%
Which is the major cause of high

current A/c deficit in India during
the first quarter of 2018-19?

(A) High trade deficit
(B) Deficit in services trade

(C) Decline in private transfer
receipts, mainly remittences

(D) All of the above

What is the goal of maternal
mortality ratio to achieve by 2030
under sustainable development
goals for India?

(A) 130
(C) 70

B) 125
(D) 66

Which sector has more contribution
in gross state domestic product of
this State at constant prices in the
year 2017-18?

(A) Primary Sector
(B} Secondary Sector
(C) Tertiary Sector

(D) Manufacturing Sector

22.

23.

24.

25.

T4 2018-19 H Tom M@ ¥ wra H
Tehel Tie] Iee gy <0 T R7
(A) 75 e

|77

(C) 82 wfaww
(D) 8:-3 ufawra

6 2018-19 F W fmd § wwa

9 WA § I U H TG FRO BT

134

(A) 3= =UR 91T

(B) Taneil & =R ¥ ey

) Fsft  wor wiiEt s
(Rfe=aw) # firme

(D) 3w Wi

Ra % fog ok fem @eg % swla
2030 T A §eg 319 | Wiy 1 w2
e &7

(A) 130 (B) 125

(C) 70 (D) 66

9§ 2017-18 § T T & WhA W
3Iqe # for fimdl ® a8 w1 dvem
e 27 |

(A) wrfes &
B) fedfrre &=
(C) Fereh &t
(D) fafamior &=

SPACE FOR ROUGH WORK / T %/ & forg s
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26. What amount of incentive per acre
will be given by this State to
increase the production of gram
(chana) for the year 2018-19?

(A) 1,400 (B) ¥1,500
(C) ¥1,550 (D) ¥1,600

27. How many districts of this State will
be developed as full organic farming
districts?

(A) 22
(B) 18
€ 5
D)y 7

28. Which industry is not included in
integrated industry due to more
production of electricity in this
State?

(A) Iron and Steel
(B) Aluminium
(C) Cement

(D) Bauxite

29. In  which district of this
State ‘Integrated Infrastructure

Development Centre’ is going to
be established?

(A) Raipur
(B) Bilaspur
(C) Kanker
(D) Bastar

27.

28.

29.

26.

a§ 2018-19 § =1 H INEA TG ¥
i wks et afdt dieeeT F ®W A W
ST & g & Swfi?

(A * 1,400 —(B) ¥ 1,500

(C) ¥ 1,550 (D) ¥ 1,600

T ¥ e et @ ot A S ®
= i fefire o STT?

(A) 22

(B) 18

) 5

D) 7

Torege, 1 oTfre SeTER M F I B

am W T # whied @m § i
E ?7

(A) T TE T

(B) THfam

(C) ®ie

(D) wia@rEe

70 759 % e R ‘whiga e
Trerra ¥’ < TG Y S 7

(A) TR

(B) feemag

(C) iR

(D) s&R

SPACE FOR ROUGH WORK / % %M &% fog w18
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30. How many villages are identified as
qdeal Villages’ under District
Mineral Institute Trust Fund in this
State till 31st March, 2018?

(A) 36
(B) 46
(C) 56

(D) 66

31. What is correct about the certain
principles of policy to be followed by
the State?

1. Equal pay for equal work for
both men and women.

9. Health and strength of workers,
men and women, are not to be

abused.

3. Childhood and youth are
protected against exploitation.

4. Equaljustice and free legal aids.
A) 1

(B) 1 and 2

(C) 1,2 and 3

D) 1, 2, 3 and 4

30. 31 W 2018 & foen @i deH =
Y ¥ =t 3@ T F Fre am “oAmen
¥ & #f fafga fee e €7

__(A) 36

(B) 46
(C) 56

(D) 66

31. TS T EEwhE Fo N aw % fwa #
w27

1, gt ofR Rl Ot % for e W
¥ forg = aaA|

2. T R W wER F @ AR
Wit 1 e 4 B S0

3. qiAE 3R STeTaEEh SAfhdl HI Wl
q & FE

4. v = R frypes fafte weEa
(Aa) 1

(B) 1@ 2

(C) 1,273

D) 1, 2, 3 7 4

SPACE FOR ROUGH WORK / T& %M & felg S8
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32. What is correct?

1. President can say the
Parliament to reconsider on
an Amendment Bill.

2. President can say  the

~  Parliament to reconsider on a
Finance Bill.

3. President can say the Council
of Ministers to reconsider on
an Advice.

4. President can say the Council of
Ministers to reconsider on a
decision of a Minister.

(A 1,2 and 3

(B) 2, 3 and 4

(C) 3,4and 1

(D) 4, 1 and 2

What is correct about the removal
of the Speaker of State Legislative
Assembly?

1. He may be removed by no-
confidence motion.

2. He may be removed by a
resolution.

3. It should be passed by the
majority of the members present
and voting.

4. It should be passed by the
majority of all the then members
of the House.

5. It should be passed by the Zrd
majority of the House.

(A) 1 and 3 (B) 2 and 4

(C) 1 and 4 (D) 2 and 5

33.

32. od wg?

1. wpfy R dei fades w gEiER
% foTu dug @l %8 e B

2. ugafy e fom fodes w ERER %

T T G %1 e aehal 81

3. ula dbufwg ¥ fFft woR W
TAfdem % g e e 2

4. Tgufa Atoieg @ frd Wt & ol
R AR % g #7 w8

A) 1, 2,793
(B) 2, 3aA 4
(C) 3,471
(D) 4, 19 2

33. T fumew ¥ o H TEgq FH &
forr & &) = B9

1. 3 fovamy T g e=ga fomam s
HaT B

2. 30 TH Uhed TN WeYd TR W
T g

3. ¥g U@ a¢1 HAEH A I gee
% wgAd A WG B =T

4. W WA F GO GG F agad €@
qIRE BT =R

5. 98 We1 % 2rd 9gHd ¥ TRA B
=Rl

(A) 1 @ 3 (B) 2 @M 4

(C) 1@ 4 (D) 2 @1 5

SPACE FOR ROUGH WORK / 1% &/ & forg g
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34. What is not correct?

1. A member of Parliament can be
an ex-officio member at Janpad
Panchayat.

34. 0 U@ AE T?

1. T GiEE SHTE TEE H T W |
ehal R

2. A member of State Legislative
Assembly can be an ex-officio
member of Janpad Panchayat.

3. A member of Legislative
Assembly can be an ex-officio
member of all Standing
Committees of Janpad
Panchayat.

4. A member of Parliament can be
an ex-officio member of all
Standing Committees of Janpad
Panchayat.

5. A -member of Legislative
Assembly can be an ex-officio
member of all Standing
Committees of Zilla Panchayat.

6. The Vice President of Zilla
Panchayat ‘can become a

member of any two Standing
Committees.

(4) 1, 2, 3 and 4
B) 2,3, 4and 5
(C) 3,4, 5 and 6

(D) 4, 5, 6 and 1

0. wH TSU FUweT 969 SHIE IR
T T TS B T 2

3. T FuEe 9eE See gEEd 6
off ol affel @ T T R
Fepal B

4. Th GEE TG YO G e
aRfE 1 TR TR B U1 B

5. uF Fumewn ged R T=RE R
oft = ghfe w9 T R
gehat B

6. T vama w1 snead el @ el
it 1 gee | gkt 2

A) 1,2, 374

B) 2, 3,4qM5

(C) 3,4,57M6

(D) 4, 5, 6a41 1
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35. Supposing the President of Zilla

36.

Panchayat is suspended, then who
will act as the President during this
period?

(A) The Vice President will act as_

President

(B) Members  will elect the
Officiating President

(C) President will be nominated by
the Government

(D) Chief Executive Officer will act
as President

Which is matched?

1. The executive power of the
Union shall be vested in the
President.

2. The executive power shall be
exercised by the President either
directly or through subordinate
officers.

3. The Supreme Command of the
defence forces of the Union shall
be vested in the President.

4. All executive functions of the
Govt. of India shall be expressed
to be taken in the name of the
President.

(A) 1, 2 and 3
B) 2, 3 and 4
(C) 1, 3 and 4
(D) 1, 2 and 4

35. AA iR e vera o sy fafea
BT R, ) 36 ol § P ey % wv
T e wam?

| (A) SUTSEE, SIS % F Y H-HR-heH—
(B) 9™ THMEA mwaimgqma;}h
(C) wTEA SR 31ee] Aok foren Smam

(D) T&a FRUEs ARFN Teag F &9

T %1 wen
36. gafra T 87

1. ©9 6 sl wke tgufa § ffa
il

2. s With 1 9@ gEl W
1 o7 2ty Tl o wiem 9
HT|

3. U9 % & 9 H1 TarE quey gy
# fifga grm)

4. YRG R & GO HREUAH HE
Tgafa & T ¥ R g wR S

(A) 1, 27 3

(B) 2, 3du 4

(C) 1, 371 4

(D) 1, 2 9 4

8012/ED-DA/RCE-M/16-A
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37. Match List-I with List-Il and find
the correct answer using following

codes.

List-1

b. Colour of light

c. Velocity of light

d. Propagation
light
e. Diffraction of
light
Codes :

(A) a
4

b

2
B)a b
3 4

() a Db
5 4

b

3

(D) a
1

of

2.

3.

4.

5.

w o N O wo

[6 N o)

List-II

— a—Intensity of light —1-—Propertiesof the

medium
Refractive index
of the medium
Amplitude of
light

Frequency of
light

Path difference

d €
5 1
d e
1 5
d e
2 1
d e
2 4

38. The range of Agni-II Missile is about

(A) 500 km

(B) 2000 km

(C) 3500 km

(D) 5000 km

37. g1 A gEi-11 ¥ gafea =t ot 9 fag
T 2 ) R A T IR BT R
-1 -1

a. TR o ieta 1 MR

b. RIS T T 2. HIEAR I SIS

c. TS T o 3. RISl 1 M

d. YT H THA 4. weRTe i AR

e. Y 1 faadq 5. QYR
&

(A) a b c d €
4 2 n3 - SRl
B)a b ¢ d e
3 4 2 v 1us
C)a b c d e
5 4 3 2 1
Da b c d e
1 3 5 2 4

38. Agni-1I e N AR LT TN R
a) 500 Fet
(B) 2000 et
(C) 3500 Tl
(D) 5000 et

SPACE FOR ROUGH WORK / T %M & fg s
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39. Which one is mismatched among

the following?
(A) Brahmos—Supersonic Cruise
Missile
__(B)_Sagarika—Light Transport
Aircraft
(C) Nag—Antitank Missile
(D) Pinaka—Multi-barrel Rocket
Launcher

40. Ozone of ozonosphere is formed

41.

from

(A) oxygen and oxygen

(B) nitrogen oxide and oxygen
(C) chlorine, water and oxygen
(D) nitrogen and oxygen

Consider the following statements :

1. Green chemistry relates with
non-toxic reagents and solvents.

2. The ozone layer is formed at an
altitude of 5 km to 10 km from
earth’s surface.

3. The loss of green colour in
leaves is called fluorosis.

4. Main
pollution are
factory and
plants.

industries causing air
iron and steel
thermal power

The incorrect statements are
(A) 1 and 2
(B) 1 and 3
(C) 2 and 3
(D) 3 and 4

39. Fre i 9 T gt 7€ 27

(A) TEE—guEs g9 R
(B) TRTHEHI—ATEE MU TIGHITE

(D) TUATER—TedisRa Wehe @i

ASAERRR T ASA 1 Fmior g @
(A) NTedisH Td RASH |

(B) TRESH Afawss @ HATadisH @
(C) T, it Td SAfeRfeH A

(D) TEGSH T HAFfH @

41. 7 FoE w fEr il

1. 1R W R el
fram @ daftE B

2. 3ANF Wa R ¥ 5 ¥ 10 T
Somé w fffa B R

3. gl # R T g FERIE FHaaral
|

4. oTY YENUT H G&I FRU T8 T T
32w i TR wve 2 2

3 FH T
(A) 17972
(B) 173
(C) 2T 3
(D) 3T 4

SPACE FOR ROUGH WORK / 1% %M & fot 7R
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42. BODj; is 42. BODg @

(A) wasted decomposed in 5 days () s F 5 R & frafe g
(B) oxygen used in 5 days

————{C)micro-organism destroyed —in

5 days (C) W iR (gewsft) 1 5 A
(D) dissolved oxygen left after # 78
5 days
(D) 5 Rt weaq gfera ATfsT A T
43. Match List-I with List-Il and select sl
the correct answer using the codes
given below :
List—I List—IT 43. ?Eﬁ—l £l '{f':ﬁ—ll A gfﬁ%fa #t it = '
a. Greenhouse effect 1. Carbon T RE T TR ¥ T I H T R
monoxide w_l ‘!Eﬁ—ll
b. Depletion of ozone 2. Aldehyde and a. g T8 IV 1. FET AAEERES
1:::65 N 5 I;ett:ne o b. R WA H &4 2. TS T HH
c. Smc:);c emic . Nitric oxide . w3, e o
d. Acid rain 4. Sulphur d. o T 4. HE SIS
dioxide . TR ¥ WY 5. FEA SEATTES
e. Combination with 5. Carbon SRl
haemoglobin dioxide
(A) a b c d €
(A a b ¢ d e 2 3 4 5 1
2 3 4 5 1
B)a b c d €
Ba b c d e 1 3 5 4 2
1 3 5 4 2
Ca b c d e ©a b c d e
5 3 2 4 1 5 3 2 4 1
Ma b c d e D)a b ¢ d e
3 2 1 5 4 3 2 1 5 4

SPACE FOR ROUGH WORK / T% %™ % 1Y e
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44,

281 and Beyond’ is a biography of
which of the following players?

(A) Sachin Tendulkar
(B) Rahul Dravid

45.

46.

47.

(C) V. V. S. Laxman
(D) Sourav Ganguly

Mary Kom won the Sixth Gold Medal
in World Championship and made a
world record in which sport?

(A) Wrestling
(B) Boxing

(C) Archery

(D) Weightlifting

Which of the following countries did
not participate with India in third
meeting of QUAD countries?

(A) America
(B) Japan
(C) Australia
(D) Russia

Who amongst the following of
this State has received the 2018’s
Padmashree Award in the field of
Literature and Education?

(A) Arun Kumar Sharma
(B) Damodar Bapat

(C) Shyam Lal Chaturvedi
(D) Mamta Chandrakar

a4.

‘281 s faEie’ = o 9§ fora Raadl
TR 7

(A) Tfe dgert
(B) T Eieg

45‘

46.

47.

(C) o <flo THo TEWW
(D) HRE e

A i 7 e fava IR woivgs sia
R for wa # faya fed samn?

(a) F¥h
(B) Fawrsh
(©) Wt
(D) wRREH

e § @ -9 W WRA WY FE <
1 diel S8 7 afifea 78 a?

(A) ITTER
(B) Sm™
(C) srmgferm

(D) &

™ U9 @ uife w@ e & &m0 i 2018
w1 ygref qreaR e 3 | Rl i gem B9

(A) STeU HAR T
(B) TMIEK 99
(C) vHaT JgaR
(D) HHAT <gTehl

8012/ED-DA/RCE-M/16-A
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48. How much amount will be given

49.

50.

in Noni Surakhsa Yojana of this
State, after completion of 18 years
and passing 12th class?

48. T T & A6 g A F 18 a6 g

N T 127 Fan g v W) freh o @
SRAf?

What is India’s share in global
exports of agricultural products in
the year 20167

(A) 1 percent

(B) 2'1 percent

(C) 2-2 percent

(D) 2-5 percent

Varanasi Port is developed on
which of the following National
Waterways?

(A) Allahabad to Haldia
(B) Sadiya to Dhubri Patti
(C) Kollam to Kottapuram

(D) Talcher to Dhamra

49.

50.

_ (A) 050 lac_ (A) 0-50 @@
(B) 1-00 lac (B) 1-00 «@
(C) 2-00 lac (C) 200 @
(D) 5-00 lac (D) 500 W@

a8 2016 ¥ WA w1 FN IR F A
Frafa § = fow 87

(A) 1 wiowa

(B) 2-1 Wi
(C) 2-2 wfawr
(D) 2-5 wfwrd

Tl e Fre § { e T Stemel
R TR form w27

(A) TEEER | Ee
(B) W & gl 7R
(C) gH & HETH
(D) qERR |

8012/ED-DA/RCE-M/16-A
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PART—2 [/ W1 T—2
General Knowledge of Computer / &F &l AHTT A

51. What is the full form of GUI in terms | 51. et & wedt § GUI % T &9 11 &7
—of computers? —{A) Graphical User Imstrument—

(A) Graphical User Instrument (B) Graphical Unified Interface
(B) Graphical Unified Interface

(C) Graphical Unified Instrument
(D) Graphical User Interface

52. Tfes & @ =F-d@ W ogREE

(C) Graphical Unified Instrument
(D) Graphical User Interface

52. Which among the following is T # TR W ITAT Bt 27

commonly used language in Android

application? @A) C

( A) C (B) C++

(B) C++ (C) Java

(C) Java (D) PHP

(D) PHP 53. HWE W PH-U WH IaF A &k T F
53. Which component of computer is T S 27

also considered as its heart? (A) wHIKX

(A) Monitor (B) HraE

(B) Keyboard (C) R

(C) Scanner (D) TEATRI

(D) Microprocessor

54. Tr=fifad § @ fFA Sigar arht a+ft T

54. All of the following are computer faaa ¥7
input devices, except
(A) keyboard (A) e
(B) printer (B) frx
(C) mouse (C) wis®
(D) joystick (D) STaEdih

SPACE FOR ROUGH WORK / % &M & f7q s7e
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55.

What type of device is computer
speaker or headphone?

(A) Input
(B) Input/Output

55. e T a1 3EHH e TR i fearE

56.

57.

58.

(C) Software
(D) Output

What type of device is a digital

camera?

(A) Input

(B) Output

(C) Software

(D) Storage

A high quality CAD system uses

which of the following for printing
drawing and graphs?

(A) DOT Matrix printer
(B) Digital plotter

(C) Line printer

(D) All of the above

Type of printer in which characters
or letters are formed without use of
any mechanical impact is termed as

(A) page printer
(B) line printer
(C) impact printer

(D) non-impact printer

56.

57.

58.

87
) FE

(B)_FT92/AT3TRE

(C) IR

(D) 33y

fefrea 0 Ree TR 1 feargw 87

(A) F192

(B) 3Mr3eYe

(C) FTHRAN

(D) VR

T ofn I e W % forg Feafafea ®
¥ F-| e FREA CAD frew swEm
grar 27

(a) e Az fire

(B) fefrea @

(C) <A =X

(D) SHIE Tl

e werR ¥ Bt o agm fem Rt
Frfrerer g F a1 87

(A) I

(B) g TR

(C) e Trt

(D) F-F B

8012/ED-DA/RCE-M/16-A
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50. Printing technique in which | 59. fFa fifen =fw & R dewr dw *

characters are produced using metal IR A IAI AT 27
pieces is called

A) AfEE wiee
(A) matrix font ( ) o
(B) solid font (B) vm
(C) page font (C) S Hi

(D) FmTE Wi

(D) paragraph font
60. W BN ____ U YE g B

60. My Computer was introduced from

(A) Windows 31 (a) fre 31
(B) Windows 3-11 (B) foreist 3-11
(C) Windows 95 (c) fmerst 95
(D) Windows 98 (D) fareist 98

61. Which of the following Windows do | 61. fmfafea & #w-wr foreist # wié w7 Tt

not have start button? o 27

(A) Windows XP (A) e XP
(B) Windows 7 (B) o 7
(C) Windows 8 (©) fert 8
(D) Windows Vista D) e R

62. i i
2. Which of the following does not 62. Frffas § @ #  9R § R
support more than one program at a

time? T H wNE Fa 87
(A) DOS (A) DOS (3¥)

(B) Linux (B) Linux (SfH4)
(C) Windows (C) Windows (diEr)
(D) UNIX (D) UNIX (gf=)

SPACE FOR ROUGH WORK / % %M % o7 <mg
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63. To apply centre alignment to a 63. TUH H WX TesE % g prci
paragraph we can press F 2|
(&) Ctrl+S (A) Ctrl+S
(B) Cul+C (B) Ctrl+C
(C) Ctl+C+A (C) Ctril+C+A
64. Which function in Excel tells how 64. Excel & fr8 e ¥ et :@f@ i
many numeric entries are there? & e =@ a7
(A) NUM
(A) NUM
(B) COUNT
(B) COUNT
(C) sUM
. (C) SUM
(D) CHKNUM
(D) CHKNUM
65. A new presentation can be created
el i 65. T ¥RwA ____ & 5w €
rom
(A) blank presentation (A) <eh IS
(B) existing presentation (B) TSARET YsieTH
(C) design template (C) Tesmea Irmre
(D) All of the above (D) Ss axft
66. What is the name of the virus that | 6. aERH T AW F 2 o SR TlRE %
fools a user into downloading g & TEEAE A m X F ACE
and/or executing them by =t ITETE B n;@; 37
pretending to be useful application? )
(A) Cracker (A) HHR
(B) Worm (B) A
(C) Trojan Horse (C) I &d
(D) Keylogger (D) W AR

8012/ED-DA/RCE-M/16-A
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67. Another name of computer antivirus

is
(A) Vaccine

(B) Worm

67. FIR THARRE T O TH 3

68.

69.

70.

(C) Trojan Horse

(D) Spam

Computer virus program is usually
hidden in a/an

(A) operating system

(B) application program

(C) disk driver

(D) Both (A) and (B)

The Internet was originally a project
of which agency?

(A) ARPA

(B) NSF

(C}) NSA

(D) NASA

The process of transferring files from
a computer on the Internet to your
computer is called

(A) uploading
(B) downloading
(C) forwarding
(D) FTP

68.

69.

70.

(A) afRm
(B) =t

Cy g
(D) €W
FIYR IPRE WU H MR W
fosmr <@ R

(A) ATRfET Rrem

(B) Ueftehe Wi

(C) fee g

(D) (A) 3R (B) S

R S g TN R
(A) ARPA

(B) NSF

(C) NSA

(D) NASA

FEA W Th AR 8 T H W TR
CASISIEE D 17| B 0
(A) Iu=fET

(B) TrAAIST

(C) wrafen

(D) TF ot otft

8012/ED-DA/RCE-M/16-A
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71. Internet Explorer falls under 71. WQW@'{I F o I B

(A) operating system A Fifen fwen
(B) compiler (B) TR
(C) browser (C) oS
(D) IP address (D) 3o flo TH
72. The process of copying files to a | 72, o o u T HEA FA FA B wfsFn
CD-ROM is known as ____WT?ﬁ%l
(A) burning (A) EIEUl
(B) zipping (B) fafim
(C) digitizing () fefrzrzfim
(D) ripping (D) R
73. Zﬁif:i ;Z ?the largest unit among the 73. e d X TR W TS B 27
(A) Terabyte (&) e
(B) Megabyte (B) A
(C) Kilobyte © Fretiie
(D) frmarge

(D) Gigabyte

74. Which of the following storage media 74. fe= § ¥ TR e fufe ”3;“' i

provides sequential access only? AT TET et 77
(A) Floppy disk (A) vt feen
(B) Magnetic disk (B) Wi foen
(C) Magnetic tape (&) e 9

(D) Optical disk (D) e o=

SPACE FOR ROUGH WORK / % @ & fou IR
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75.

76.

77.

In audio and video compression,
each frame is divided into small
grids, called picture element or

(A) frame

(B) packet

(C) pixel

(D) megapixel

Joint Photographic Experts Group
(JPEG) is used to compress

(A) music

(B) images

(C) pictures

(D) frames

One of the
multimedia is

disadvantages of

(A) cost
(B) adaptability
(C) usability

(D) relativity

75. aFfear ik At w9 & | 3w, oR
fire @ ffs A1 @ St fereR eawm
__ g |

@A

(B) ke
(C) e
(D) Tt
76. “ETE BRURE WHUE (JPEG) 1 ST
% ugpiya & ® g Ry
(a) 7brs
(B) ¥
(C) TR
(D) %A

77. TR A E AN 7
(A) HE
(B) Ter=fafdt
(C) gt
(D) T=ffe

8012/ED-DA/RCE-M/16-A
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78. Web crawler is also called a 78. Y FER B ____ ¥t FE 8
(A) link directory A) o e
(B) web spider (B} 3= TIF
(C) web manager (C) 39 ISR
(D) search optimizer (D) &< AffenTssi
79. We get list of sites after typing a | 79 T ax # o€ Tw FA H 9% @ S ;R
word in search bar, called o fore feran & &Y e ®1
(A) search word (A) 9 a8
(B) key phrase (B) & B
(C) single word (C) Tt =2
(D) None of the above (D) 3Wrh & & FE T
80. Search engines maintain heavy | 80 T TH ___ % T SR H AT
database of w2
(A) keywords A) Has
(B) URLs (B) go 3TRo Teo
(C) Web pages (C) ¥ ¥R
(D) All of the above (D) Ius weft

SPACE FOR ROUGH WORK / T &M & 1Y g
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PART—3 / \mM—3
General Mental Aptitude / G AHfa® Fraar

. Choose the odd one out.

(A) Paper
(B) Wood

(C) Plastic
(D) Leather

82. Choose the odd one out.
(A) Hard-Soft
(B) Good-Bad
(C) Sweet-Sour

(D) Valley-Depth

Choose the odd one out.
(A) 12-6

(B) 89

(C) 7-10

(D) 184

83.

84. Find the missing number.

6, 19, 59, 180,
(A) 541
(B) 544
(C) 550
(D) None of the above

81. = =i ghu)

(A) IR
(B) W
(C) wfR®
(D) =me

82. i =i gh|
(A) FER—TH
(B) 3T=&-0
(C) He-—wzT
(D) =E—IET

83. fim =t g
(A) 12-6
(B) 8-9
(€) 7-10
(D) 184

84. fagw w&m =i @ Fikm)
6, 19, 59, 180, —
(A) 541
(B) 544
(C) 550
(D) 3ugw & @ @i

SPACE FOR ROUGH WORK / T% %R % g g
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85. Find the missing number. .-88., ﬁ@mﬁmﬁml
23, 24, 26, 29, 34, 41, __ x 23, 24, 26, 29, 34, 41,
(A) 49 (A) 49
By 50— _— (B) S0 s
(€ 52 (C) 52
(D) 57 (D) 57
86. One term in the number series is 86. d&M AUt W TH UG T 2| e 9g W
wrong. Find out the wrong term. & R
1, 3, 7, 13, 19, 31 1, 3, 7, 13, 19, 31
A 7 Ay 7
(B) 13 (B) 13
(C) 19 (C) 19
(D) 31 (D) 31
87. Find the missing letter. 87. e 31eR = I A
E,F, 1,0, ____ E,F, 1,0, ——
(A) Y A) Y
(B) Z B Z
C) A € A
(D) € D) C
88. Find the missing letters. 88. ﬁ'ﬁﬂ sl W @ HifT)
BY, DW, GT, ____ BY, DW, GT, —
(A) LO (A) LO
(B) KO (B) KO
(C) LP (C) LP
(D) KP (D) KP

SPACE FOR ROUGH WORK / & %@ % forg e
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89.

T —

20.

91.

Find the missing term.

C10, F11, D15, 024
(A) V38

(C) W40
(D) X38
A women introduces a' man as the
son of the brother of her mother.

How is the man related to the
woman?

(A) Nephew

(B) Son

(C) Uncle

(D) Cousin

Which of the following diagrams

represents  correct relationship
among judge, criminal and thief?

) @O

® OO0

(D) @ O

89. fIgw we # yra Hifs)

C10, F11, D15, 024, ___
(A) V38

—  (B) V40

(C) W40
(D) X38

90. T AfRAT Uk YW 1 Ui Iuh! | & WS

% T % &9 § A ¥| 98 =AE 39 Afgen
¥ & wafm 37

(A) ST

(B) @

(C) ==

(D) == T

frefafga § @ Sw-w fe = mEnd,
qUeht § IR % Weq G drRy W) quil
37

@ @O

® OO0

o

(D) O

SPACE FOR ROUGH WORK / T %™ & fog 18
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Direction : For Q. Nos. 92 and 93, study the
following figure carefully and answer the
questions.

ﬁiﬂ:mﬁw%aQs%mﬁmﬁlﬁﬁﬁaA

Dancer

92. Which region denotes Doctor,
Leader who are not Dancer?

(A) A
(B) B
© C
(D) E

93. Which region denotes Dancer,

Leader who are not Doctor?
(A) D
B) C
C) E
(D) F

94. In a certain code ‘it be zee’ means

woses are blue’. ‘sik hee’ means ‘red
flowers’ and ‘“zee mit hee’ means
flowers are vegetables’. How is red
written in that code?

(A) hee
(B) sik
(C) zee
(D) mit

1 FGEE A RN T W % I A
Leader A a ¢ i
E
G D
ErE]

92. F-Tl ¥ TR, Y1 N Tk T & W
Tuiian 87

(A) A

(B) B

€ C

(D) E

FH-T1 & T0H, Y S AR T & W
guiiar 37

(A) D

B) C

C) E

D) F

IR frdt wikfaes s § ‘it be zee
Taeid ‘roses are blue ®1 ‘sik hee’

&7 g9 red flowers ® N ‘zee mit

hee’ &1 Aae® ‘flowers are vegetables’
3 ATa AR H ‘red F F @t

(A) hee
(B) sik
(C) zee
(D) mit

93.

94.

SPACE FOR ROUGH WORK / T6 % & e R
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95. If the word TERMINATION’is coded | 95. afe forft wpfos 9w & 3w

as 12345671586, what should be ‘TERMINATION’ 1 FIE
the code for MONITOR? ‘12345671586" %, @ W W ¥
(A) 4867183 ‘MONITOR® % T <1 =g 81 =fRe?
(B) 3865184 |  (a) 4867183
(C) 4865183 (B) 3865184
(D) None of the above (C) 4865183
(D) 30 & ¥ #g 7
96. If ZEE = 1, SIX = 48 then FIT = ?
(A) 108 96. 3 ZEE = 1, SIX = 48, @ FIT = ?
(B) 74 (A) 108
©) 58 (B) 74
(D) 54 (€) 58
(D) 54

97. How many triangles are there in the

following figure? 97. TFwifea stepfa & fpa = €7

/N /N
\ /
A\

A) 21 (A) 21
(B) 20 (B) 20
(C) 19 (C) 19
(D) 22 (D) 22

SPACE FOR ROUGH WORK / 1% %™ & foTT s7g
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98. What is the minimum number of | 98. Fwif%a aEk # R g e

straight lines that is needed to wer § et Y Y e gf?
construct the following figure?

&

M 11 (A) 11
®) 13 B) 13
© 15 ©) 15
D) 19 (D) 19

99. @ T sl # W K Few HN T

99. Count the number of squares in the

given figure : e -
A) 18 (A) 18
(B) 19 (B) 19
(C) 25 (C) 25
(D) 27 (D) 27

SPACE FOR ROUGH WORK / & %M & oY SR
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100. Which letter will come into blank | 100. Wielt TIH § FH-T1 A& TRAM?

space?
A|N|Y

A|N|Y =1 s
— clwl|v]|
clw|vV

(A) P (A) P

(B) T , B) T

€ W C) W

(D) X

D) X

101. Which number will come into blank .
101. Grelt W § HH-91 376 a7

space?
16 | 9 |34 16 | 9 (34
13 | 11 | 35 13 | 11 | 35
10 44 10 44
(A) 12 @A) 12 B) 13
(B) 13
© 14 (C) 14 (D) 17
(D) 17 | 102. fagw @@ = 3 fivm)
102. Find the missing number. B @ @ @ G O
@ W @O @ @ @ I I I
12 29 @
12 29 ®
(A) 36
(A) 36
B 42 (B) 42
() 48 (C) 48
(D) 95 (D) 95

SPACE FOR ROUGH WORK / % &M &% fou sg
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103. Find the missing term. 103. faqw UE I T HIRT)

(a) 54 (A) 54
(B) 72 B) 72
(C) 84 (C) 84
(D) 120 (D) 120

104. If + stands for x, — for +, x for —and + 104. Elﬁ'+w3q!ﬁflxa5ﬁﬂ,—ﬂﬂ3ldll+ﬁi

for +, then find the value of forg, x &1 39 - F fog o £, + & oy
26+74-4x5+2 IFET A, A 26+74-4x5+2 FH AA
(A) 220 T e
®) 376 (A) 220
(C) 478 (B) 376
D) 488 (C) 478

(D) 488

105. The total number of digits used in ]
numbering the pages of a book | 105. 360 T8} 6t geas § 78 3 & 3T e

having 360 pages is IR F k) h wE geft
(A) 720 (A) 720
(B) 972 (B) 972
(C) 990 (C) 990
(D) 1040 (D) 1040

SPACE FOR ROUGH WORK |/ % %M % oY W8
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106. Find the odd one out.

Nisul i

106. T %I 3@ iR

Naul o

) 2 (3) @) (1) ) (3) )
(a) (1)
(A) (1)
(B) (2
B) (2)
€ 3
C) (3
o) @ € (3
(D) 4

107. Choose the correct mirror image of
Fig. (X).

(€

Figure (X)

W |
(B) @o:—
© |%))

(D)

107. IS (X) % &et guor wfafera & gRe)

(et

= (X)

(A) &O/:
G
(©) -:oD

(D)

/TN

SPACE FOR ROUGH WORK / W &M & fog s

8012/ED-DA/RCE-M/16-A 38




108. How many cubes are there in the 108. ﬁﬁ@ﬁﬂﬁﬁﬁﬁ@ﬁwﬁ%?
given figure?

N (A) 10 (B) 11
(A) 10 B) 11
©) 12 D) 13 () 12 (D) 13
109. Using the following figures find | 109. r=ifea Rt w1 S W e Hitg 6
when ‘5’ is at the top which number IR ‘5’ IWR, A AT F\-97 R AT@T?

mco

c 3 (D) 6 ©) 3 D) 6

110. Find out which of the following
answer figures completes the figure 110. @w-w fm e, sTER AR B W@

matrix? ExGH %,Eﬂﬂ Hifsm)

@ @ Answer Figure @ @ @ T e

o OIS Y Poes
a5 £ W ® © o || & p @ B (© O

®) @) ® @) @ @) ® @)
© ) © ©) @ ©) D) )

OB

SPACE FOR ROUGH WORK / T &d % 1T Sme
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112.

113.

. The three sides of a triangle are

PART—4 [/ wm—4
General Mathematics / @m=a 7o

6 cm, 13 cm and x cm respectively
If x is an integer and its value is
between 4 and 8 (both values
included), then what is the value of x
in cm?

@A) 4

(B) 5

) 8 (D) 7

When a number is divided by 119,
the remainder is 19. What will be
the remainder if the same number is
divided by 17?

A) 10 (B) 7

(€ 3 (D) 2

Which option contains the fractions
in ascending order?

| en
| on
<
|=

(A)

-

Ol 0w

-

o u O
— —
p—t w

(B)

|

~
~

o J o)l (o))
pt

—
p—
ol Iy W

\®)

-
[y

(D)

-

Iy WIN

-

—
w
Wil oju

ot
w

= 1

111, et e &t 7 oAl & &9 6 cm,

112.

13 cm 30 x em BHIR —x—@—‘i?ﬁﬁ—%—

iR zuwr W 4 3k 8 F g B (M
A), q x %1 9 cm § 1 77

A) 4 (B) S

€) 8 (D) 7

forell W@ A 119 ¥ 9T | W 19 W
SO 21 39 OGS W 17 ¥ WA A W
e T BT?

(A) 10 B) 7

(C) 3 (D) 2

113. Ta Reeq # = sga w0 i for@ g 87

56 7 11

(A) T e m? 14
6 8 9 13

—
—

(B)

b b

oo o)l

75
9’6

=]

W

fuury
—

(€)

O
o R o)

[u—l
|
[ NN

[a—y
p—d

(D)

| o
ol

5|
O
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116.

117.

118.

114. 0-57 in simple fraction is 114. 0.57 & W= @emer = & gm
57 57 57 57
A) — B) — = e
W 750 B 59 A o5 (B) 30
26 26
() — D) — ) 28 o) 28
45 J_]_‘rh a5 148
115. What should be subtracted .frf)m 115. 549162 & § FH-I-F1 T T WY 5
549162 so that the remaining o = g Y
number is a perfect square? e T :
(A) 28 (B) 36 (A) 28 (B) 36
(C) 62 (D) 81 (C) 62 (D) 81
If (676)2 = 456976, then whose | 116. AR (676)% = 456976 &, W 456976
square is 4569767 frgert a1 BemT?
(A) 0-00676 (B) 00676 (A) 0-00676 (B) 0-0676
C) 0676 D) 6:76
© D) (C) 0676 (D) 676
Two numbers are in the ratio 3:7 e
and their LCM is 84, then the 117. 3 ¥ 3:7 % I ﬁ.% 3R I
greater number is ALTH waEd 84 2, 41w wE Bl
(A) 196 (B) 36 (A) 196 (B) 36
(€ 28 (D) 12 (C) 28 (D) 12
The LCM of two numbers is (x+y) 118. 3 et # g quEe (x+y) |

and their HCF is p(x -y). If one of
the numbers is p, then the other
number is

) p-Z— B) x2-y?
(©) pxy o) &Y
px-—-y

ITH HEAH GAITEEF p(x —y) T AR TH
& p A, A gEl FEn s

@ py ®) x* -y
c p) PX*tY
© pxy o)

8012/ED-DA/RCE-M/16-A
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119. The average of six numbers is 30. If | 119. gemslt @ fEa 30 3 ARk W ER
the average of first four numbers is el # oftwa 25 ww Ifm @R
25 and the average of last three demelt @ 3fga 35 2, A 9t gen
numbers is 35, then what will be the 27
fourth number? '
(A) 25 (B) 30 (A) 25 (B) 30
(C) 35 (D) 40 (€ 35 (D) 40

120. The average age of the students of | 120, foret e F Frenfial H ofwa og 15 s
class is 15. Five students of average 2\ 39 e #, 5 fEnefl Rfeh a1y
age 12 joined the class and the 12 a8 2, oy § ol w0 e N Nad
average age of the whole class is - ’? 14 B e 2w ¥
reduced to 14. The original strength ¥ ] 5 _
of the class was ferenfe ﬁt@ ae oA
(A) 10 (B) 20 (A) 10 (B) 20
(C) 30 (D) 35 (C) 30 (D) 35

121. 0-025 is equal to 121. 0-025 U 2
(A) 0-25% (B) 25%

(A) 025% (B) 25%
(C) 2:5% (D) 37:5%
(C) 2:5% (D) 37:5%

122. A rectangle is formed by increasing

the length and breadth of a square | 122, T i i @@l 3K QK F FAM: 40%

by 40% and 30% respectively. By
how many percent the area of the
rectangle will be more than the given
area?

(A) 42% (B) 62%

(C) 72% (D) 82%

3R 30% Tfg A W WH A H LG
ffu T ol &% dowe & B vl

At 2om?
(A) 42% (B) 62%

(C) 72% (D) 82%

8012/ED-DA/RCE-M/16-A
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123.

A train covers a distance between
station A and station B in
45 minutes. If the speed of the train
is reduced by 5 km/hr, then the
same distance is covered in 48

124.

125.

126.

minutes. What is the distance
between station A and station B?

(A) 60 km (B) 50 km
(C) 65 km (D) 70 km
An aeroplane covers 2500 km,
1200 km and 500 km distances at a
speed of 500 km/hr, 400 km/hr and

250 km/hr respectively. What is the
average speed of the aeroplane?

(A) 405 km/hr
(B) 420 km/hr
(C) 410 km/hr
(D) 425 km/hr
A sum of 800 amounts to ¥920 in
3 years. If the rate of interest is

increased by 3%, then the amount
will be

(A) ¥1,056
(C) T1,112

(B) €1,092
(D) ¥992

A sum of money becomes Zth of

itself in 3 years at a certain rate of
simple interest. The rate per annum
will be

(A) 53% (B) 63%

(C) 18% (D) 25%

124.

125.

126.

123. TH 3 VYA A IR VYW B F A9 A gt

45 fme § o0 W ®) AR W R o
5 km/hr %9 8 9T, @ 9§ g 48 B
T R R R AT I BF A N
70 Rrert 02

(A) 60 km (B) 50 km

(C) 65 km (D) 70 km

% 7O SE 2500 km, 1200 km @
500 km < &l %AW 500 km/hr,
400 km/hr ¥R 250 km/hr ® =/a &
T WA | TR e A EA =«
7Y

(A) 405 km/hr

(B) 420 km/hr

(C) 410 km/hr

(D) 425 km/hr

#800 ®1 3 I 1 Wywd £920 B IR
N R 3% agl & 9, i feres w®
Tm?

(A) ¥1,056 (B) ¥1,092

(©) ¥1,112 (D) €992

F U WURY S | 3 98 § @ H
2 71 B S B | = R R A

(A) 53% (B) 63%

(C) 18% (D) 25%

8012/ED-DA/RCE-M/16-A
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127. Selling price of 6 pens is equal to | 127. 6 W\ g 7 W% g F
cost price of 7 pens, find the gain or T & | @™ W B % FE hifsig
loss %.
3 (A) 1739 =
(A) 17—% loss 4
3 B) 173% =m
—7/0
(B) 172% gain 4
2 (C) 162"/ o™
(C) 165% gain 37
2 (D) 162 % B
(D) 165% loss 37
128. By selling a tie for €63, a | 128. T% Z€ A €63 § AT A TH GHRR H
shopkeeper gains 5%. At what price 5% W N B Bl 10% N FAH F
should he sell the tie to gain 10%? e 39 o€ foran § St B0f?
(A) ¥68 (B) ¥66 (A) ¥68 (B) 66
(C) ¥72 (D) ¥70 (C) €72 (D) €70
129. What should be added to the terms

of ratio 7:13 so that the new
numbers are in the ratio 2 : 3?

(A 1 (B) 2

©) 3 D) 5

129.

713 ¥ IF 9 § F1 Srer we fF %
et 2 : 3 % IiguE | g Sm?

(A) 1 B) 2

©) 3 D) 5

8012/ED-DA/RCE-M/16-A
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